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CHAPTER

Direction & Distance

1. Ashok started walking towards South. After walking
50 metres he took a right turn and walked 30 metres. He
then took a right turn and walked 100 metres. He again took
a right turn and walked 30 metres and stopped. How far
and in which direction was he from the starting point ?

(SBI PO 2010)

(b) 150 metres North

(d) 50 metres North

(@) 50 metres South
(c) 180 metres East
(¢) None of these
2. Town D is towards East of town F. Town B is towards
North of town D. Town H is towards South of town B.
Towards which direction is town H from town F ?
(SBIPO 2010)
(b) South-East
(d) Data inadequate

(a) East

(¢) North-East

(¢) None of these
3. Mohan walked 30 metres towards South, took a left turn

and walked 15 metres. He then took a right turn and walked

20 metres. He again took a right turn and walked 15 metres.

How far is he from the starting point?  (SBI PO 2010)

(@) 95 metres (b) 50 metres

(¢) 70 metres (d) cannot be determined

(¢) None of these

DIRECTIONS (Qs. 4-5): Study the following infor mation to
answer the given questions :

(SBI PO 2011)
Point P is 5 m towards the South of Point M. Point Q is 3 m
towards the East of Point P. Point O is 3 m towards the East of
Point M. Point N is 2 m towards the South of Point Q.
4. A person, facing North, takes a left turn from point M,
walks 4m and stops. He then takes another left turn, walks
5 m and stops at point R. Which of the following points,
including R, fall in a straight line ?

(@ M,0,R (b) N,RP
(© RO,Q (d R,QN
© QPR
5. How far and towards which direction is Point O from Point
N?

(a) 5 mtowards South
(¢) 8 m towards West
(¢) 5 mtowards North
6. A school bus driver starts from the school, drives 2 km
towards North, takes a left turn and drives for 5 km. He
then takes a left turn and drives for 8 km before taking a left
turn again and driving for 5 km. The driver finally takes a
left turn and drives 1 km before stopping. How far and
towards which direction should the driver drive to reach
the school again? (IBPS PO 2011)
(@) 3kmtowardsNorth (b) 7kmtowards East
(¢) 6kmtowards South (d) 6km towards West
(e) 5 km towards North

(b) 7m towards North
(d) 7 m towards West

7.  Point Pis 10 m to the West of Point A. Point B is 2 m to the
South of Point P. Point Q is 6 m to the East of Point B. Point
C is 2 m to the North of Point Q. Which of the following

three points fall in a straightline? ~ (RBI Assistant 2012)
@ ACP () B,C,P

©0 QCA d ABQ

(e A,B,C

8. Veena walked 5Sm towards north, took a left turn and walked
7 m. She took a left turn again and walked 8m before taking
a left turn and walking 7 m. She then took a final left turn
and walked 1 m before stopping. How far is Veena from the

starting point ? (SBIClerk -2012)
(@ 3m (b) 6m

(c) 4m (d) 2m

() Tm

DIRECTIONS (Qs. 9-10): Study the given information and
answer the given questions.

(IBPS Clerk 2013)
Point Ais 11 m North of point B.
Point C is 11 m East of point B.
Point D is 6 m North of point C.
Point E is 7 m West of point D.
Point F is 8 m North of point E.
Point G is 4 m West of point F.
9.  How far is point F from point A?
(a) 43m (b) 4m
(¢©) 3m (d 7m
() Sm
10. How far and in which direction is point G from point A?
(@) 3 mNorth (b) 5mNorth
(¢) 4mNorth (d) 4m South

(¢) 3 m South

11. A person starts from point P in East and moves 12 m to
point Q. Then, he moves right 8 m to point R. Again he
moves right for 6 m to point S. Then, he moves 6 m in the
North to point T. Finally from there he goes to left for 6 m to
point U. Which of three point he would form a triangle
whose all the angles are less than 90°? (IBPS PO 2013)

(@ PTQ (b) QIR
(¢ UIS (d TSR
(& SQR

12.  Vikas walked 10 metres towards North, took a left turn and
walked 15 metres and again took a left turn and walked 10
metres and stopped walking. Towards which direction was
he facing when he stopped walking?  (IBPS SO 2014)
(a) South
(b) South-West
















